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1) 6 X1= 6X2=
6 X 10 = 6 X 20 =
2) 60—12=
150 — 10 =

3) Double these numbers
6 12 24
4) Halve these numbers

28 280



White

1) 6x1=6  6x2=12 6x3=18
6X10=60 6xX20=120 6 x30= 180

2) 60—12= 48
150 — 10 = 140

3) Double these numbers
6 12 12 24 24 48
4) Halve these numbers

28 14 280 140






6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

Have a think m
_eag | partitioned 6
into5 and 1

3

| 00000000
00000000

2| O00000O®® 5 X 8 =40
00000000
00000000

1| 00000000 1x3=3




What methods could you use to calculate 6 X 8 if

6 X 8 =48

you did not know the answer?

6><8=2><|3><8|

Double 24 is 48




6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

6X8=6X2X4

4%
6X2X4

N4
00000000 12 x 4 = 48
80000000
°X? 90000000 N
009000000 24 % 2 =48
00000000 B
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6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

b.

<

| did 6 X 10 then
subtracted 12

10

| 9000000 O OO

000000000
000000000
000000000
000000000

' 90000000000

6 X10=060
60 — 12 =48



6)(8: 48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

Double, then double,
'@ then double again

61725 6|66 |6 |6 |67 6|6 |6 |6]6|6|6 |6




6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

If you double one factor and halve one
. factor the product stays the same

:2 6
6 X8
| 0000000 12 % 4
00000000
.| 00000008, 24 X 2

| 000000




5 X 28 =140

Have a think

b !IpartitionedG] Jex8=6x2x4]

into5and 1

Q0000000 00000000
00000000 0000 000e
5 00000000 5 x38=140 00000000
00000000 00000000
00000000 0000 000e
11 OO000000 1x8=8 0000 000e

If you double one factor and halve oneJ ! I did 6 X 10 then J

factor the product stays the same subtracted 12

12 10

000000000000 6x8 00000000
000000000000 |, 12 x 4 0000000000
000000000006 5 000068850
0000000000
0000000000

6X2X4
Y

12 X4 =48

6X2X4

Rt
24 %2

6 X 10 =60
60 — 12 =48



-

| partitioned 6
into5and 1

|

%))

[EY
-

000000
000000
000000
000000
000000
000000
000000
000000

5 X 28 =

/N
20 8

140

5 X 20 =100
5X8=40
100 + 40 = 140
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5 X 28 =140

S 5X2X14
@ - XE8=0Xex4 ] \ /
6.><’2><4 10 X 14 — 140
0000 000e 12 X 4 =48
OO00888e 6 2x4 5% 7 X4
s 1 I N

20 X 7 =140
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5 X 28 =140

If you double one factor and halve one
=, { ’ ] 5X 28

S factor the product stays the same

12 10 X 14

6 X 15 Have a think m
+3( )XZ
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5 X 28 =140

oo %IdidelOthen] 5 X 30 =150

subtracted 12

10
0000000000 = =
44 gox—lcl)z —6?18 >5Xx2=10
0000000000 -

0800800600 150 — 10 = 140




5 X 28 =140

| also know that to multiply by

¢~:

28 X 10 = 280

-@ 5 you could multiply by 10 first
and then half
28
140 5

280 +- 2 = 140




o Tuey 2

Have a go at the rest of
the worksheet




